{|GND

2 i P2 PL BA 3B 33C
H—o\ H—o\ DO TT® T4 D1 GND—57 TT® T3 iz 1GND GND—7 eND—38 GNDI—3¢
[ P [ P D2 51® O D3 D43 E1® 1% D44 P15 3A P15 3B P15 3C
== 10 =10 o o o o GND GND GND
D3 21 D44 21 D4 7 8 D5 D45 7 8 D46 4A 4B 4C
D4 3 D45 3 D6 9 ® ®T or D47 s [® ®T1 o= NIS—A NS5 NS¢
=10 Eo——10 o o o o GND GND GND
D5 22 D46 22 D8 1 12 D9 LE g 2 D35 6A 6B 6C
= =<1 0 == 1 0 e o e o P24 P24 P24

N 4 D 41 g D10 13 g ol 4 D1l OK 13 g ol 4 D49 e 7A e 7B D 7C
D6 23 D47 23 DI2 15 16 D13 D50 15 16 D51 BA 8B 8C
b7 5 [~ © D48 5 [~ © D14 7 [® ®T18 b 7 [® O N24—5A N24—og N24—o¢

| |
R = D16 9[® ®T™ D17 CNDFp3p 10 [® ®T20 bmn 16D GNDI—6A GNDI—08 GNDI—o¢
==1 0 =—=10 e o e o vce vce vce
D9 6 [ o D35 6 | o D18 2l | o ol 22 D19 DBP 2 | g g |22 DBN ONDI—LLA e (I o e
D10 25 OK 25 D20 23 | o ol 2 D21 D3P 23 | o gl 24 DN 2A 2B 12C
—a e — — — ol onoh—=2- o
GNDJ ‘o) == 1 0 e o o o — —E— VREF
D12 8 D51 8 D26 29 30 D27 29 30 15A 158 15C
=210 == *10 o o GND| e o |GND
D13 27 e 2 5 D28 3 e el 22 D29 D3P 3l g |32 DIBN ! 16A 16B oK 16C
D14 95 = M3z p P D30 B e el D3l D37 P33 | o o] 3% DI/N
D15 28 D32 N 28 % g @l 36 DBP 35 | o o] 36 DBN DIN48 DIN48 DIN48
D16 10 = D33_P 10 = 37 38 D52 P__ 37 38__D52 N
D17 29 1° D33 N 29 [° PA*3T® T SR
| 39 40
VP D34 P P 1 1® = VIREA, i 1® 1=

GNDfF—m—5—O O N24 o @ o O
D18 30 D34 N 30 43 44 43 44
D19 2 © D39_P 12 © 10 O 5 10 O
D20 30 D39 N 30 P57 1O ®1s 7 1® O =
b 13 [-° D40_P R 29 [® ®T® 29 [® ®T%

Do 1° D10 N 5 1° N15 o @ {GND vecl e o {GND

=221 0 _——=1 0

D23 1 | D 1 | 09 18550 7324 09 18 550 7324
L33 |—33

OB 15 [ © ONPF oz p 15 [ ©
s o
=210 O
o — P R VP

I DB N 36 [ °
D29 36 o
el 18 | Ol B1 D52 P 18 | 38 Bl
D30 37 39 | D52 N 37 39 |
D3l 19 > 19 >
=10 GND o~
DB37/female DB37/female
Digital Inputs: Digital Outputs:
D[ 5.. 0]: Gain slider input 1 D[35] : Fast path limits reached H1 #4 screw, 3/8"
D[11.. 6]: Gain slider input 2 OK : Voltages are within range
: H2 #4 screw, 3/8" B1
D[12] : Input 1 enable
D[13] : Input 2 enable Analog Inputs: McMaster-Carr N B
D[14] : Output 1 switch D[36] : Common path offset adjust 90272A108 Bracket
= H3 #4 lock washer
D[16..15]: Number of boost stages D[37] : Slow path offset adjust C ] B1
D[17] : Compensation enable D[38] : Slow path output offset H4  #4 lock washer ) o
D[18] : Excitation A enable VicNiaster-Car 10 100n
D[19] : Option A enable Analog Outputs: 91113A005
D[20] : Polarity slow path D[32] : Input monitor his Gl &b
D[21] : Common filter enable D[33] : Monitor at split He # nut
D[22] : Fast path enable D[34] : Fast monitor e
= = - = cMaster-Carr
D[23] : Fast path polgrlty D[39] : Slow patr_l feedback monitor 90480A005
D[24] : Slow path option enable D[40] : Slow monitor
D[25] : Bypass enable
D[26] : Slow output offset +5V fixed Spares: H7 #4 screw, 3/8" -
D[27] : Slow output offset enable D52 : Not used P
- = cMaster-Carr
D[28] : Slow path compensation enable 91099A165
D[29] : Slow path boost enable H8  #4 lock washer GND
D[30] : Slow path Ffilter enable Ho .
D[31] : Fast path limiter enable
D[46..41]: Gain slider fast path
D[47] : Excitation B enable
D[48] : Option B enable
D[49] : Excitation slow path
D[50] : Polarity input 1 Title
D[51] - Polarity input 2 Common Mode Servo Interface Board
LE : Latch enable Size Number Revision
8 D0901784
Date: 12/18/2010 [ Sheet 10f 1
File: C:\Users\..\CMPowerl.SchDoc | Drawn By: Daniel Sigg

6




